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The Dow Jones Industrial Average 

Introduction

Everybody talks about the Dow Jones Industrial Average, but most people have only a vague idea of what it actually is. The Dow has such a long history and is so widely followed, that it's taken on almost mythical status. But the more you know about it, the less mysterious it becomes. A little perspective goes a long way in understanding the Dow. 

For example, with 100-point rises and dips almost an everyday occurrence, you might be forgiven for thinking that the Dow has become unusually volatile these days. But don't reach for the Maalox just yet: When the Dow is over 10,000, a 100-point swing is much less meaningful than it is when the Dow is at 1,000. The biggest one-day percentage loss in the Dow remains October 19, 1987, when the index dropped more than 22%--equivalent to more than a 2,000 point drop from Dow 10,000. And the biggest percentage gain happened in the depths of the Great Depression after Great Britain went off the gold standard: On October 6, 1931, the Dow rose nearly 15% in one day, equal to roughly 1,500 points today. When you look at it in those terms, recent market swings seem positively tame by comparison. 

What the Dow Is

It's important to look at the historical context, but it's also important to understand just what the Dow is and what it isn't. For example, despite its name, the Dow Jones Industrial Average isn't really an average in the ordinary sense. It's calculated by taking the 30 stocks in the average, adding up their prices, and dividing by a divisor. This divisor was originally equal to the number of stocks in the average, but it has shrunk steadily over the years, dropping below 1 in 1986 and below 0.5 in 1992. This shrinkage is needed to account for stock splits and changes in the roster of companies. For example, when a Dow stock splits 2-for-1, its share price is cut in half, but nothing else changes. To prevent an arbitrary plunge in the Dow whenever a split occurs, the divisor is adjusted downward so the index remains the same before and after the split. 

As of January 2000, the divisor for the Dow Industrials was a little over 0.20, so the effect is to multiply the sum of the prices by about five. To look at it another way, each dollar of price change in any of the 30 Dow stocks represents a five point change in the Dow. This method of calculating can result in some oddities. If Philip Morris MO goes from $38 to $39, it causes exactly the same change in the Dow as when Merck MRK goes from $127 to $128, even though Philip Morris' percentage change is three times greater. Also, the Dow is not weighted by market capitalization (the total value of each company's stock), unlike the S&P 500 and virtually all other market indexes. That means that a $1 change in the price of Caterpillar CAT has the same effect as a $1 change in Microsoft MSFT, even though Microsoft's market cap is more than 30 times larger. 

The Dow's Limitations 

The fact that the Dow uses only 30 companies means that one company can have much more influence on it than on more broad-based indexes. For example, when Travelers and Citicorp announced their merger on April 6, 1998, the Dow shot up nearly 50 points. Looks impressive. But 45 points of this gain was due entirely to Dow component Travelers, which rose more than $11 a share on news of the merger. The broader-based S&P 500 actually went down a point that day, better reflecting the overall state of the market. 

It's also useful to remember that the 30 stocks that make up the Dow are picked by the editors of the Wall Street Journal, rather than by any objective criteria. The editors try to pick stocks that represent the market, but there's an inevitable element of subjectivity (and luck) in such a method. Replacing one stock with another can have a significant effect. When Dow component Owens-Illinois went private in 1987, the editors needed a stock to replace it. They chose Coca-Cola KO--not the most obvious choice for an index labeled "industrial," but a fortuitous one. Coke's stock increased in value more than tenfold over the next 11 years, far outpacing the market as a whole and contributing significantly to the Dow's stratospheric rise. Similarly, the editors decided to replace USX (formerly U.S. Steel) when it split into two companies in 1991. They chose Disney DIS--also not a typical industrial stock, but a good choice as well. Disney quadrupled in price from 1991 to 1998, while the reconstituted USX shuffled up and down. 

Even when one stock is replaced in the index by a similar one, the timing of such moves can be significant. In March 1997, longtime Dow component Woolworth--now known as Venator Z--was replaced by Wal-Mart WMT. Both of these stocks had been bouncing around within a narrow range for several years, so the change didn't look too significant. But in the 18 months after the switch, Wal-Mart tripled in price, while Venator plunged by 50%. If Venator had remained in the index, the Dow would have been more than 200 points lower. 

None of this means that the Dow isn't a useful measure of the stock market. Despite its narrower focus, it tracks quite well with broader indexes such as the S&P 500 over the long run. But understanding the Dow's quirks and limitations, and some of its history, is a good thing for any market watcher. Once you realize that the Dow is an imperfect and partly arbitrary measure, those 100-point daily swings become a little more palatable.
Quiz-------------------------------------------------Name_______________________________

 There is only one correct answer to each question.

1. The divisor used to calculate the Dow: 

    
a. Always stays constant. 

    
b. Has been shrinking steadily in recent years. 

    
c. Has been rising steadily in recent years. 

2. What is one major difference between the Dow and most other market indices such as the S&P 500? 

    
a. It's calculated by the U.S. government. 

    
b. It includes primarily large-cap stocks. 

    
c. It's not market-cap weighted. 

3. If General Electric's stock price goes up 1%, how much will the Dow go up? 

    
a. 1%. 

    
b. One-fifth of 1%. 

    
c. It depends on what GE's stock price and the Dow's divisor are at the time. 

4. How are changes in the makeup of the Dow determined? 

    
a. The editors of the Wall Street Journal make changes whenever they think it's necessary to do so. 

    
b. A stock that dips below a specified market cap is automatically dropped from the index. 

    
c. The members of the New York Stock Exchange vote on all changes to the Dow. 

5. The biggest one-day drop in the Dow in percentage terms was: 

    
a. In 1998. 

    
b. In 1987. 

    
c. In 1929. 

Answers:
1. The divisor used to calculate the Dow: 

    
a. Always stays constant. 

    
b. Has been shrinking steadily in recent years. 

    
c. Has been rising steadily in recent years. 

B is Correct. Every time a stock in the Dow splits, the divisor is lowered so that the average doesn't arbitrarily fall.

2. What is one major difference between the Dow and most other market indices such as the S&P 500? 

    
a. It's calculated by the U.S. government. 

    
b. It includes primarily large-cap stocks. 

    
c. It's not market-cap weighted. 

C is Correct. The Dow is price weighted, meaning that the dollar value of one share of stock, rather than the market cap of a company, is what affects the index.

3. If General Electric's stock price goes up 1%, how much will the Dow go up? 

    
a. 1%. 

    
b. One-fifth of 1%. 

c. It depends on what GE's stock price and the Dow's divisor are at the time. 

C is Correct. It's impossible to tell the effect of a certain percentage price change in any Dow component without knowing that stock's per-share price and the divisor.

4. How are changes in the makeup of the Dow determined? 

    
a. The editors of the Wall Street Journal make changes whenever they think it's necessary to do so. 

    
b. A stock that dips below a specified market cap is automatically dropped from the index. 

    
c. The members of the New York Stock Exchange vote on all changes to the Dow. 

A is Correct. The editors of the Wall Street Journal can change the makeup of the Dow whenever they want, though they try not to do so too often.
5. The biggest one-day drop in the Dow in percentage terms was: 

    
a. In 1998. 

    
b. In 1987. 

    
c. In 1929. 

B is Correct. The 1987 crash remains the worst one-day drop in percentage terms, though the Dow dropped by greater number of points on August 31, 1998. During the 1929 crash, the Dow never dropped more than 14% in a day.

